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1. 用数学归纳法证明,当 𝑛 ≥ 1,

𝐽𝑛 =


𝜆𝑛 𝑛𝜆𝑛−1 𝑛(𝑛−1)

2 𝜆𝑛−2

0 𝜆𝑛 𝑛𝜆𝑛−1

0 0 𝜆𝑛


由题已知，当 𝑛 = 1时，

𝐽1 =


𝜆 1 0

0 𝜆 1

0 0 𝜆


假设当 𝑛 = 𝑘 时，

𝐽 𝑘 =


𝜆𝑘 𝑘𝜆𝑘−1 𝑘(𝑘−1)

2 𝜆𝑘−2

0 𝜆𝑘 𝑘𝜆𝑘−1

0 0 𝜆𝑘


则

𝐽 𝑘+1 = 𝐽 𝑘 × 𝐽 =


𝜆𝑘 𝑘𝜆𝑘−1 𝑘(𝑘−1)

2 𝜆𝑘−2

0 𝜆𝑘 𝑘𝜆𝑘−1

0 0 𝜆𝑘




𝜆 1 0

0 𝜆 1

0 0 𝜆


=


𝜆𝑘+1 (𝑘 + 1)𝜆𝑘 𝑘(𝑘+1)

2 𝜆𝑘−1

0 𝜆𝑘+1 (𝑘 + 1)𝜆𝑘

0 0 𝜆𝑘+1


故得证

1



2. 𝐴(L) = 𝐼 −ΦL =


1 − 1

2L − 1
2L

− 1
9L 1 − 1

3L

，𝐴(𝑧) =

1 − 1

2 𝑧 − 1
2 𝑧

− 1
9 𝑧 1 − 1

3 𝑧


则

det𝐴(𝑧) = (1 − 1
2 𝑧)(1 − 1

3 𝑧) −
1
18 𝑧

2 = 1 − 5
6 𝑧 +

1
9 𝑧

2

令 det𝐴(𝑧) = 0，得 𝑧1 = 6，𝑧2 = 3
2

由 |𝑧1 | > 1，|𝑧2 | > 1，

𝐴−1(𝑧) = 1
det𝐴(𝑧) × 𝐴∗(𝑧) = 1

(1 − 1
6 𝑧)(1 − 2

3 𝑧)


1 − 1

3 𝑧
1
2 𝑧

1
9 𝑧 1 − 1

2 𝑧


其级数展开表达式为：

𝐴−1(𝑧) =
∞∑
𝑖=0

(16 )
𝑖𝑧 𝑖

∞∑
𝑗=0

(23 )
𝑗𝑧 𝑗


1 − 1

3 𝑧
1
2 𝑧

1
9 𝑧 1 − 1

2 𝑧



2


